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Quiz 4
Friday, September 29, 2023

Consider the following five vectors in R3:
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Indicate whether each of the following statements is True or False:

1. The vectors u1,u2,u3 are linearly dependent. (True/False)

2. The vectors u1,u3,u5 are linearly dependent. (True/False)

3. The vector u5 is a linear combination of the vectors u1,u2,u3,u4. (True/False)

4. The vector u4 is a linear combination of the vectors u1,u2,u3,u5. (True/False)

5. The vectors u2,u3,u5 are linearly independent. (True/False)

6. The vectors u1,u2,u4 are linearly independent. (True/False)

7. The vector u1 is a linear combination of the vectors u1,u2,u5. (True/False)

8. If S and S0 are sets of vectors in Rn, and every vector in S is a linear combination

of vectors in S0, then every vector in S0 must also be a linear combination of vectors

in S. (True/False)

9. If S ✓ S0 for some sets of vectors S, S0 ✓ Rn, and S is linearly independent, then S0

must also be linearly independent. (True/False)

10. If S ✓ S0 for some sets of vectors S, S0 ✓ Rn, and every vector v 2 Rn is a linear

combination of vectors in S, then every v 2 Rn must also be a linear combination of

vectors in S0. (True/False)


